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INE=EIDY NEINT= AMEH = e 39 o) ! 9l ol 7}
S22 A= X012 X HSEE 5 252,000 Box S HIOtS &t 2015-10-29
S22 MBISRID12 K& = 5 210,000 Box S HIOts & 2015-10-29
S22 Eageapy = 4 168,000 Box AeE0=2 2015-10-29
S22 Eageapy HSEIE 3 151,200 Box AeE0I=2 2015-10-29
S22 MBISRIDI2 K& = 8 336,000 Box el 2015-10-29
S22 MBISERID12 K& HSEIE 3 151,200 Box el 2015-10-29
2015-10-29
S22 MBISERID12 K& = 10 420,000 Box AI2EOHTH & & 2015-10-29
sSE2= ABI=X0I2 X2 HSEIE 6 302,400 Box AI2EOHTH & & 2015-10-29
S8 A2I=XD12 XI& = 1 42,000 Box HLFAZHAFAHESHH 2015-10-29
S8 ABI=X0I2 XI& HSEIE 1 50,400 Box HLFAZHAFAHESHH 2015-10-29
sSE2 A2 =XD12 XI& HSEIE 3 151,200 Box AZ0H0ISH 2015-10-29
S8 A2I=X012 X2 = 5 210,000 Box AZ0H0ISH 2015-10-29
S8 B gpS) = 2 84,000 Box sl 2015-10-29
2015-11-02
sSE2 B gpS) HSEIE 2 100,800 Box HeE0=2l 2015-10-29
S22 Bk Na= 2 84,000 Box HeE0=l 2015-10-29
2015-11-03
S22 Bk H2EIE 2 100,800 Box HeE0=2 2015-10-29
S22 Bk H2EIE 1 50,400 Box HeE0=l 2015-10-29
2015-11-04
S22 Bk Na= 2 84,000 Box HeE0=l 2015-10-29
S22 Bk H2EIE 1 50,400 Box HeE0l=l 2015-10-29
2015-11-05
S22 Bk Na= 1 42,000 Box HeE0=l 2015-10-29
2015-11-23 ZFRH Bk R =] 2 1,370,600 CH U2E 2015-11-23
z 2 69 | 4,411,400




